N = 0l & At & Ml A

SA SMEED

M ZZXNE 2 Ha
el 2SS U ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= ME A 15,334,537 19,436, 152 24,101,615
= 2,136,860
s 400,000
J| 22,111
< 1,002,586
Al 11,772,980
23XNE 293 o 250,000 2,950,000 A 2,700,000
< 42,000
Al 208,000
3NN SUE ALY 250,000 2,950,000 A 2,700,000
< 42,000
Al 208,000
QAR MEHSHE SRAALY 30,000 10,000 20,000
401 AIEHI L 2 CHYI 30,000 10,000 20,000
01 A& HI 30,000 10,000 20,000
O =uH HHsXNsX22(EHI, I S)
310& * 16,129m = 23] 10,000
O ANHMEBIH=ANY NEDLHY B8
20,000,000& 14 20,000
MEtZHIOIRE=8E ZEAY 80,000 940,000 A 860,000
401 Al HIZ 201 8] 80,000 940,000 A 860,000
01 A& HI 80,000 940,000 A 860,000
O Holez=2g SA2Ae (2, 838 &) 80,000
MSRA SHYSA EAHAAZ 140,000 0 140,000
= 42,000
Al 98,000
401 AIEHI L 2] 140,000 0 140,000
< 42,000
Al 98,000
01 A& Hl 140,000 0 140,000
O M2t=RE 5 -HISA EHAY 140,000
< 42,000
Al 98,000
=223 2| 8,844,592 7,755,734 1,088,858
= 140,000
Al 8,704,592
SSFNMH=H2IIsEL 8,622,452 7,755,734 866,718
< 140,000
Al 8,482,452
ESIFMH=SSH2AE 8,430,718 7,172,000 1,258,718
< 140,000
Al 8,290,718
307 gl2tol & 8,282,000 7,172,000 1,110,000
< 140,000
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SA =
Ha: 2FQY
oo FBEL

= _ = s
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A 8, 142,000
05 212H9 3 8,282,000 7,172,000 1,110,000
O IE2LHAANE 2% LA 8,282,000
< 140,000
Al 8,142,000
401 AlEHIZ 2 THI 148,718 0 148,718
01 Al& 148,718 0 148,718
O 22NE2L ZBHAAME ZAHAL
(E2) HEZA 148,718,0008 * 14! 148,718
IS4 NHESL 2TSY L ABEEX 191,734 583,734 392,000
201 et | 58,000 0 58.000
01 Ak 22l | 58,000 0 58,000
O N2 =Y +42 58,000
301 LerE A3 100,000 550,000 450,000
12 JIEHE & 2 100,000 550, 000 450,000
O +ZSLHHRAEE 100,000
307 @20l & 33,734 33,734 0
02 IZAMALEE 33,734 33,734 0
O YZE2N SZ2A 33,734
HEeEaze 222,140 0 222,140
HIZQAMZAL SX e 222,140 0 222,140
201 et | 62,440 0 62,440
02 zZ2E| 62,440 0 62,440
O ZJLHAANE 23
400,0008 * 12 4,800
O ZJSAH2AE CCTV Salt|
360,0008 * 2Cf * 128® 8.640
O ZJIRSHMelAE (HXE) S E=+(340H4) 49,000
401 AlEHIZ 2 OHI 159,700 0 159,700
01 Al& 159,700 0 159,700
O ZJI2=HMelAIE(B404) J1H =& 129,700
O ZJISLHANE ME =g
(374, 43,8581) 30,000
e 2z 4,796,968 5,380,991 584,023
= 2,098,860
pJ 22,111
= 619,686
Al 2,056,311
WPIE=E=TOY 4,321,968 5,068,991 AT4T,023
= 2,001,860
pJ 22,111
= 578,886
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= N H

146,000
73,000
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000
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402 212t A= 01 &

= Hn W

146,000
73,000
21,900
51,100

192,

000

A 46,000

02 (I E2ALEZ(0OIETHR)
y

o HEHA 12,

7,000,000& * 14CH

000,000& * 4CH

= MW

= N H

146,000
146,000

48,000
24,000

7,200
16,800
98,000
49,000
14,700
34,300

192,

000

A 46,000

= N H
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150
350
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000

A 27,000

307 glztol &

= mnH
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500
150
350

28,

000

A 27,000

= M W
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M HoIeg z2el

CHRl: D19 eX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 41,000
SHARA HSIIA H2ZALE 1,396,720 2,969,600 N 1,572,880
= 698,360
== 209,508
Al 488,852
301 Bt A= 643,200 321,600 321,600
= 321,600
= 96,480
Al 225,120
12 JIEtE A2 643,200 321,600 321,600
O L5338 ZIIHI BAAY
1,608,0002 * 400CH 643,200
= 321,600
< 96,480
Al 225,120
402 BI2H X 20| M 753,520 2,648,000 AN 1,894,480
= 376,760
== 113,028
Al 263,732
02 SIZEXIEAISEX (0| THL) 753,520 2,648,000 A 1,894,480
O 2K st M2AY 753,520
= 376,760
=} 113,028
Al 263,732
NAHM Holgsda A - 29 5,100 151,320 A 146,220
201 2Et24Ay| 5,100 1,320 3,780
02 Z2=2=2494| 5,100 1,320 3,780
O 27|20l ss, XY, 21058
S 25,000 = 170 ~ 12& 5,100
CIXE 83 ZXo 22 23,300 23,405 A 105
201 LBt ]| 23,300 23,405 A 105
02 2224 H| 23,300 23,405 A 105
O uxXg stdeExo d8I)e2
250,000& ~ 12€ 3,000
O 0XNg sd3Exe 8ga2 = 20,300
o BEg= 1,800
o GX=HA HABE 23l 500
o LIXNE SFHEXE S22 18,000
AN oF SEBREANAY 29 250,613 209,443 41,170
201 et d| 67,513 78,943 A 11,430
01 AP 22| H| 59,800 71,230 A 11,430
O AFEE A2 45,700& * 30004 & 13,710
O AFHEHEE2AE A= 70,000& * 224 1,540
O otz LEEH(104 ) 22,5002 * 30074 6,750
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CHRl: D19 eX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 258 M4=A2Y 30,200
0 AHBT NBM HHLY
0,000& * 2% * 245 29,400
o AEA 2HAEE ¢ 100,000& = 8& 800
O AFHE2(0F2H, 52) S|
8,0008 » 4% x 50 1,600
O 2458 & 118 dEH|
500,000& = 12& 6,000
02 E2=2=2%H| 7,713 7,713 0]
O SUFAAZ BLEHESAAH 29 5,368
o SEXHI(RA) 150,000& * 128 1,800
o ClE{Yl HIE 36,300& * 12&€ 436
0 2QoltxIIE]| HOIH SAZ
11,0008 ~ 12€ 132
0 UFIDLIHE AAE KAE£
300,000 = 100] 3,000
O o3 HBEY VYR
1,420 = 1204 ~* 12€ 2,045
O 24FOJ HEE=H S22l 300
202 044l 2,000 0 2,000
01 2Ll 2,000 0 2,000
O 245 NMEMF L 2Z2A 22
20,000 * 4% x 25¢d 2,000
203 €2 F=&d| 3,000 3,000 0
03 Al ZH =X A 2= XIH| 3,000 3,000 0
O sMstA D A MEZR 1,000
O szissne AL 2,000
301 et A= 25,000 25,000 0
12 JIEtE2 A= 25,000 25,000 0
O 4FILHY 23 ESH|
50,000 = 100¥ = 5€ 25,000
307 212t01 & 2,500 2,500 0
06 282 2,500 2,500 0
O 4H2UHY 28 283
25,000& = 100¥H 2,500
401 AlEHIZL £ 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
O 25 A2 2LIHEAAE X (2HA)
25,000,000& * 2002 50,000
402 SI2FXHE0| & 100,000 100,000 0
01 BIZtXIE ALY E X (KM TH ) 100,000 100,000 0
O 2FHAIEMNE X BX2 100,000
405 XHoHFE S HI 600 0 600
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O BIXsSX FHXA(LARE)
5

,000,000& * 100CH

= 0 W
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900,000
180,000
420,000
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000

600,000

012l 0l SSHAE 2l LPGAH &2 XI& A

H

= N H

200,000
100,000

30,000
70,000

175,

000

25,000

402 RI2FX=01 M

= N H
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100,000
30,000
70,000

175,

000

25,000
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O ofeglolSst Xt LPGXt

e
Pl
e
>
e
H
P

HE K&

5,000,000& * 40CH

= W

200,000

200,000
100,000
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70,000

175,

000
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AT 2HAS

hn X

Al

24,568
22,111
1,228
1,229

,036

9,532

301

e
T
H
0z
oy

Jl

H

Al

24,568
22,111
1,228
1,229

,036

9,532

R2IIEtE2d=
O AHIloi 2 M=

0
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0
09
0z
g
1
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Jl

H

Al
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24,568
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400
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14,911
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,036

9,532

- 138 -




D =MEAE D

DIy &el
D HIIE YR

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Al

829

= M
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667
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H
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01 SLHOYI
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= N W

390,
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401 AIEHIZ 2 THYI

= M W
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195,
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000
000

390,000

01 A€ Hl
O Wiegsddy 25

= M W
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390
195
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= N W
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Z W
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26
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S sSEs )
- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o %E& HRE2
= 40,800
Al 337,200
EFATZOIERXN Il CIMEIE X3 180,000 180,000 0
= 90,000
&< 36,000
Al 54,000
301 Bt A= 180,000 180,000 0
= 90,000
= 36,000
Al 54,000
12 JIEtE A= 180,000 180,000 0
O S$HAIQE M= 180,000
= 90,000
o= 36,000
Al 54,000
KNAH IS H2SAY X (HAHSE2 AISE 14,000 14,000 0
AL FTALE)
= 7,000
Al 7,000
307 2Iz2to| A 14,000 14,000 0
= 7,000
Al 7,000
02 QI AAIE E X 14,000 14,000 0
O DS AEE HEQ3 X« 14,000
= 7,000
Al 7,000
| SHSESO 130,000 118,000 12,000
201 2Et24Hy| 115,000 103,000 12,000
01 AP 2t 2] H| 90,000 90,000 0
O S24IA BHEHEAHAM SAHA S22 10,000
O 240IA BHEAHHM 2LEHEHEAN HBES
Eeay=] 10,000
O OHSHX =H ASXF 2A0H(20) 70,000
02 Z2=2=24%4| 25,000 13,000 12,000
O HIXNSA SE=HI| SX22lH(1001)
2,500,000 = 100] 25,000
207 I & 15,000 15,000 0
01 g EAH| 15,000 15,000 0
O 24JtA BHEFEHHA e e 249 15,000
IZH=E 0tA3 KEAY 135,000 0 135,000
201 et 9d| 135,000 0 135,000
01 AP 2t 2] d| 135,000 0 135,000
O IZAH=E 0tA3 X
1,000 * 13,500 = 100K 135,000
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SN =MEAD
Ba: ooy el

el JISHASES (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZHFAANS ST FZ EZ ALY 16,000 0 16,000
== 4,800
Al 11,200
402 BI2H X 20| M 16,000 0 16,000
o= 4,800
Al 11,200
02 QIZEXIEAIS E X (0| XM THL) 16,000 0 16,000
O ZHHANS 22T 22 MY
4,000,000 * 400 A&~ 16,000
& 4,800
Al 11,200
MEHH ES 1,020,332 621,333 398,999
= 38,000
g 400,000
= 188,900
Al 393,432
XA - MEH ES 1,020,332 621,333 398,999
= 38,000
g 400,000
= 188,900
Al 393,432
MBSO 22| Hl 2t 113,333 113,333 0
= 34,000
o= 22,667
Al 56,666
201 et | 560 560 0]
= 168
o= 112
Al 280
01 AP 2t 2| bl 560 560 0
O MUY 22/AHAXNIAY =8OS
3o &AM ¢ 560
= 168
= 112
Al 280
202 044l 1,000 1,000 0
=2 300
o=} 200
Al 500
01 2L I 1,000 1,000 0
O MUY 22182 =80 1,000
= 300
&< 200
Al 500
301 et A= 111,773 111,773 0
= 33,532
= 22,355
Al 55,886
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SN =MEZD

M MHA 25

o - MEHH BS o M)
- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
12 JIEtE2 A= 111,773 111,773 0
O MESCOY 22 H e 111,773
= 33,532
< 22,355
Al 55,886
MESSIIoHoE AFY 32,000 20,000 12,000
206 M = dl 5,000 0 5,000
01 X2 bl 5,000 0 5,000
O M=2 JIIM Y & 5,000
301 et A= 27,000 20,000 7,000
12 JIEtE & =2 27,000 20,000 7,000
O s&= RilotMss Z& 27,000
o SEfX| L= 15,000
o Wk Z= 6,000
o MXl ¥ @27 L= 6,000
MESZSIIoHE A AFY 4,000 4,000 0
= 400
Al 3,600
301 et A= 4,000 4,000 0
& 400
Al 3,600
12 JIEtE A= 4,000 4,000 0
O OtM==E I EAaALS 4,000
& 400
Al 3,600
HetE&e|l OtalZd MEf - 2FAHE 15,000 15,000 0
401 Al HI L 204 HI 15,000 15,000 0
01 Al&H| 15,000 15,000 0
O dar=dd sA2e ¢ 15,000
MNHASHAEA - 0|2Ald =4 600,000 400,000 200,000
Fag 300,000
& 150,000
Al 150,000
401 AlEHIZ £ 0HY| 600,000 400,000 200,000
Fag 300,000
= 150,000
Al 150,000
01 Al&H| 598,200 398,800 199,400
O MEf2ZX =4 598,200
Fag 299,100
o= 149,550
Al 149,550
03 A& E2HH] 1,800 1,200 600
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= M
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5,800
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20,000

A 1,000
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H

Al
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4,200
9,800

20,000

26,000

ME 221 A

14,000,000& * 14

= M

14,000

14,000

4,200
9,800

20,000

A 6,000

= M W

7,999
4,000
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4,000
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SA SMEED

M MHA 25

e XA - MEfH BES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 2,666
02 BIZtXIEANYEX(0OIETHHA) 7,999 4,000 3,999
O OtM=SZST|oHofletArS 7,999
= 4,000
o= 1,333
Al 2,666
NHStAEM L 22| (LA setat S22 MEls = 200,000 0 200,000
)
Fag 100,000
Al 100,000
401 AlEHI 2L £ 0HY| 200,000 0 200,000
= 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
O sty 2 MEl =X S 200,000
g 100,000
Al 100,000
s#R2Y SN 384,657 2,686,606 ~2,301,949
& 12,000
Al 372,657
SR 384,657 2,686,606 2,301,949
& 12,000
Al 372,657
SHHMAE 2= 2e 43,250 49,370 AN6,120
201 LBt 9| 43,250 49,370 N6,120
01 AP 22| d| 16,250 16,250 0
O g2 DXM(EI L =S=) o4y
= 652 = 50,0000 = 43| 13,000
O AN ELGSILEE2(DANM)EIHEY
110,000& = 1504 1,650
O SENNEL 2 IINHE =2
100& = 160,00021 * 10% 1,600
02 2=2=24%4| 27,000 33,120 AN6,120
O g egd=2 DIM(E) & =S=) 45
300 *« 22,50000 * 43| 27,000
SHAY A 281,407 1,962,356 A 1,680,949
101 Q124 H] 49,451 40,423 9,028
04 JI2ZtHIZ22ANEE S 49,451 40,423 9,028
O (R)2YSHY =8 FZYSALAL A2 27,149
o ez 68,800 ~ 1 = 365 25,112
o AEE 2 2,037
O &80 ¢ eI 2 2d g BX 22,302
o Jleag 68,800 * 1¥H = 247< 16,994
0 R8s 68,800 * 1&H x 52 3,578
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HE: #FR SN
Sl BT CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 4HEE &S 1,730
201 et 93,236 41,213 52,023
01 At 22l 82,660 35,737 46,923
O ELH MEIZAHLAS 2 12J14)
100,000& * 1304 1,300
O JIgt 428 ¢ 2,920
o NEBXHE E2 &) ¥ 970
aU=E (20 ) 80,0003 = 6&t At 480
sl (1L ) 49,000& » 104t At 490
0 A%l ASAUS 250,000& = 1&tXt 250
o EHZMEAID YHMEH 2 1,700
Y= 300,000& * 44 1,200
=S 100,000& * 5&F At 500
O ZAasz 74,440
o ofd = =EHAM 810,000& = 123 9,720
o U==H =ZEIAM 90,000& = 12& 1,080
o Melolgss2 dAF el =2
600,000& * 304 A& 18,000
o HIIEAH LE=SE Z&
400,000 * 10004 2 40,000
o thHJl, &S &AL 132,000& * 202/ 2,640
o =&EAA 60,000& = 50A 3,000
O =&AL oY LHEX 4,000
02 =24l 10,576 5,476 5,100
O ZAEHl =2ltl 900
o HASEFH HZHAHEE)
300,000& * 13 300
o X HATEZY Ll
300,000& =« 2CH 600
O Rofistet2& CCTV S4lHl & MIl=
50,000& = 12& 600
O B3I SHIEANE BHH=S PC S4lHI
20,0002 128 240
O ZEOS SZH&UM 23 329 7,560
O Hatistd=H dJlea 10,0008 128 120
O Yt a8 XHS(sdd) &8)Ie2
6,500 * 2CH » 123 156
O %=+H 472 4d 500,000& = 23| 1,000
202 odl 42,720 42,720 0
01 = LH o4 1l 42,720 42,720 0
O S3ZFHMYRFE Kl
140,000& » 2498 » 12E 40,320
O =228 SEH Adta F404]
50,000 = 29 « 43| 400
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O $2Y A 3AQAAD HLE=E Y|
50,000& x 4% = 103/ 2,000
206 M = Hl 1,500 1,000 500
01 XHZ H| 1,500 1,000 500
O 2£H ZH 2 50,0008 *~ 3§ = 1001 1,500
207 A3 IH | 30,000 0 30,000
01 A& Y| 30,000 0 30,000
O JIEAEME2E NEEH &4, DA 224
30,000,000 = 1Al 30,000
307 giztol A 51,000 99,500 A 48,500
02 QIZ2IA AAIE E X 51,000 99,500 A 48,500
O da5d 85 NHES=E=EH & i
NoEses 6,000
O A&LAl 2 H21 =RE2F XA 40,000
O A2l & ot EHAZZANE 5,000
401 AlEHIZL £ 0HY| 13,500 87,500 A 74,000
01 Al&H| 13,500 87,500 A 74,000
O Koistsrs& 2ZAlE CCTV A Xl
3,500,000& * 1JH A 3,500
O E=2ole=s2Held ey g™y
HH = AlE AX 10,000
KAMEIHESRA (N T2 SRAALY) 60,000 0 60,000
& 12,000
Al 48,000
307 2Iz2t0| & 32,000 0 32,000
= 6,400
Al 25,600
02 DIZHA AAIE E X 32,000 0 32,000
O FLUAAANY S 32,000
=} 6,400
Al 25,600
401 AlEHIZ 2 0HY| 28,000 0 28,000
& 5,600
Al 22,400
01 Al& b 28,000 0 28,000
O Eg=ad s 28,000
== 5,600
Al 22,400
HESAAMH (SMSHY) 37,988 41,488 A 3,500
Jl2 34l 37,988 41,488 A 3,500
Jl2 &4l 37,988 41,488 A 3,500
201 et 9| 33,788 33,788 0
01 AP 2t 2] H| 22,023 22,023 0
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